° Round each number to the nearest 10.
a) Fifty-seven
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Complete the table.
99 9939
3333 8333 ssss | 5388 33%s

I have __lot of __, 3 times. [ have __ lot of __, twice.
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What do- we need to- work owt first?

Complete the table.
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I have __ lot of __, 2 times I'have __lot of __, 3 times.

X X X X
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Complete the calculations.




How would we work owt tivese arrays?

Complete the calculations to match the arrays.




Complete the calculations to match the arrays.

006006
00000
00000 _




Solve this word problem. What picture and multiplication
calculation could you use?

Draw It!

There are five boxes of cupcakes.
Each box contains two rows
of four. How many cupcakes

are there altogether?




Solve this word problem. What picture and multiplication
calculation could you use?

Draw It!

There are five boxes of cupcakes.

Each box contains two rows ““ ““ ““
of four. How many cupcakes || 8 6866 66666666

are there altogether?

666066660
$666 6666

Record It!

5x2x4 =40




Read the statement below. Is it always, sometimes or never true?
Explain your reasoning.




Read the statement below. Is it always, sometimes or never true?
Explain your reasoning.

This is never true. Multiplication is commutative. The
order in which a sequence of numbers is multiplied
together does not change the answer.

eqg. 7x2x2=28 2x2x7=28 2x7x2=28
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Make the target number of 84 using
three of the digits below.

5|3 4
X

» =84

Multiply the remaining three digits
together, what is the product of the three
numbers?

Is the product smaller or larger than 84?

Can you complete this problem in more
than one way?




~ IX2X4=3X8=

Make the target number of 84 using
three of the digits below.

Multiply the remaining three digits
together, what is the product of the three
numbers?

Is the product smaller or larger than 84?

Can you complete this problem in more
than one way?




